
Q1) A) Fill in the blanks (Any 5) : [5]
i) The Indian contract Act came into force on ______ throughout

India except Jammu & Kashmir.
(15 October 1872, 1 September 1872, 1 October 1872)

ii) The minimum number of partners to start a partnership business
should be ________.
(4, 3, 2)

iii) Sale of Goods Act 1930 applies to ______ Goods.
(immovable, movable, public)

iv) ______ method of dispute resolution is called domestic court.
(District court, High court, Arbitration)

v) ______ is a payment received from one person to another for
breach of contract.
(Consideration, Income, Compensation)

vi) Foreign persons cannot be shareholders of any of the following
organizations.
(LLP, Joint stock corporation, partnership)

B) Match the following. [5]
'A' Group 'B' Group

i) Adult person a) Present object
ii) LLP b) Completed 18 years of age
iii) Goods present at the time c) Limited liability

of sale
iv) Arbitration d) Active partner
v) Participation in management e) Arbitrator
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Q2) Explain the characteristics of a consideration by stating what is consideration
is? [15]

Q3) Explain the difference between limited liability partnership and partnership
firm. [15]

Q4) Explain the conditions and warranties of sale of goods contract. [15]

Q5) What is an arbitrator? Explain the powers and duties of an arbitrator. [15]

Q6) Write notes (Any 3) : [15]

a) Void contract

b) Types of partners

c) Agreement to sale

d) Conciliation

e) Transfer of ownership


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr 5) [5]
i) ^maVr` H$ama H$m`Xm Oå_y-H$mpí_a dJiVm ....... _Ü`o g§nyU© ^maVmV bmJy

H$aÊ`mV Ambm.
(15 Am°ŠQ>mo~a 1872, 1 gßQ>|~a 1872, 1 Am°ŠQ>mo~a 1872)

ii) ^mJrXmar ì`dgm` gwé H$aÊ`mgmR>r ^mJrXmam§Mr {H$_mZ g§»`m ........... BVH$s
Agmdr.
(4, 3, 2)

iii) _mb{d H$s H$m`Xm 1930 ...... dñVy§Zm bmJy hmoVmo.
(AMb, Mb, gmd©O{ZH$)

iv) {ddmX gmoS>dÊ`mÀ`m .......... nX²YVrbm KaJwVr Ý`m`mb` Ago g§~moYbo OmVo.
({Oëhm Ý`m`mb`, Cƒ Ý`m`mb`, _Ü`ñWr)

v) H$ama §̂Jm_wio EH$m ì`ŠVrH$Sy>Z Xþgè`m ì`ŠVrbm {_iUmam _mo~Xbm åhUOo ........
hmò .
(à{V\$b, CËnÞ, ZwH$gmZ ^anmB©)

vi) {dXoer ì`ŠVr Imbrbn¡H$s ............ g§ñWoMo ^mJYmaH$ hmoD$ eH$V ZmhrV.
(LLP, g§̀ wŠV ^m§S>dbr à_§S>i, ^mJrXmar)

~) `mo½` OmoS>`m bmdm. [5]
"A' JQ> "~' JQ>

i) gkmZ ì`ŠVr A) dV©_mZ dñVy
ii) EbEbnr ~) d`mMr 18 df} nyU©
iii) {dH«$sÀ`m doir dñVy ApñVËdmV H$) _`m©{XV O~m~Xmar
iv) _Ü`ñWr S>) {H«$`merb ^mJrXma
v) ì`dñWmnZmV gh^mJ B) bdmX {ZU©̀
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àíZ àíZ àíZ àíZ àíZ 2) à{V\$b åhUOo H$m` Vo gm§JyZ à{V\$bmMr d¡{eîQ>ço ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) _`m©{XV O~m~Xmar ^mJrXmar Am{U ^mJrXmar g§ñWm `mVrb \$aH$ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) _mb{dH«$s H$amamÀ`m à_wI Am{U Xþæ`_ AQ>r ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) bdmX åhUOo H$m` ho gm§JyZ bdmXmMo A{YH$ma Am{U H$V©ì ò ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr 3) [15]

A) ì`W© H$ama

~) ^mJrXmam§Mo àH$ma

H$) _mb{dH«$sMm R>amd

S>) g_PmoVm

B) _mbH$s hŠH$mMo hñVm§Va




